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3 Digit Minus 3 Digit Name:
Use subtraction to solve the following problems. Answers
1.
1) 267 2) 211 3) 489 4 825
-222 -123 -202 ;526 2
3.
4.
5 889 6) 413 7 982 8 625 >
-130 -118 - 897 —_E 5
7.
8.
9 833 100 404 11) 946 12) 824 9.
-416 - 344 -437 - 295
EE— EE— E— 10.
11.
12.
13) 259 14) 346 15 199 16) 360 13.
- 149 -234 -184 - 285
o 14.
15.
16.
17) 954 18) 757 190 562 200 398 17
- 494 -622 -525 —_281
18.
10.
20.
1-10 [95]90[85]80[75]70]65[60] 5550
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3 Digit Minus 3 Digit Name: Answer Key
Use subtraction to solve the following problems. Answers
1 45
1) 267 2) 211 3) 489 4 825
-222 -123 -202 ;526 2 88
45 88 287 299
3 287
4 299
5 889 6) 413 7) 982 8 625 > 759
-130 -118 - 897 ;210 6 205
759 295 85 415
7. 85
8. 415
9 833 10) 404 1) 946 12) 824 J 417
-416 - 344 -437 - 295
— — 10, 60
417 60 509 529
11, 509
12. 529
13) 259 14) 346 15 199 16) 360 13, 110
- 149 -234 -184 ;285
110 112 15 75 14. Lz
15, 15
16. 75
17) 954 18) 757 199 562 20) 398 7 460
- 494 -622 -525 ;281
460 135 37 117 18, 135
19, 37
20. 117
1-10 [95]90[85[80[75] 70]65] 60 55 [ 50
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Cﬂ2—1 3 Digit Minus 3 Digit

Name:
Use subtraction to solve the following problems. Answers
110 45 509 85 529
759 287 417 112 295 1
15 415 299 88 60
2.
) 267 2 211 3) 489 3.
- 222 -123 - 202
- - 4.
5.
6.
4 825 5 889 6) 413
- 526 - 130 - 118 &
8.
9.
7) 982 8 625 9 833 10.
- 897 -210 -416
EE— EEE— — 11.
12.
13.
100 404 11) 946 12) 824
- 344 - 437 - 295 o
15.
13) 259 14) 346 150 199
- 149 - 234 - 184
M odified 1-10 | 93]87|80| 73] 67| 60| 53] 47| 40| 33|
[ Math - 6 11-15[27[20]13] 7 | 0
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